

(24)

$$x^r y''' - x^r y'' + r x y' - r y = 0 \quad x > 0$$

$$y(1) = y'(1) = y''(1)$$

$$y''\left(\frac{1}{r}\right) = -1$$

$$y'(e) = ?$$

$t = \ln x$

$$\rightarrow D(D-1)(D-r)y - D(D-1)y - ry = 0$$

$$[D(D-1)(D-1) - D(D-1) - r]y = 0 \rightarrow [(D-1)(D-r)]y = 0$$

$$y = c_1 e^{rt} + c_2 e^t + c_3 t e^t \xrightarrow{t = \ln x} y = \dots$$

$$y = c_1 x^r + c_2 x + c_3 x \ln x \rightarrow c_1 + c_2 = y(1) \quad (1)$$

$$y' = r c_1 x + c_2 + c_3 (\ln x + 1) \quad r c_1 + c_2 + c_3 = y'(1) \quad (2), \quad y''(1) = r c_1 + c_3 \quad (3)$$

$$y'' = r c_1 + \frac{c_3}{x} \rightarrow r c_1 + \frac{c_3}{r} = -1 \rightarrow r c_1 + r c_3 = -1 \quad (4)$$

(1)(2)(3)(4) $\rightarrow c_1 = 1, c_2 = 0, c_3 = -1$

$$y = x^r - x \ln x \rightarrow y(e) = e^r - e = e(e-1)$$

$$y' = r x - [\ln x + 1] \rightarrow y'(e) = r e - r = r(e-1)$$

نتیجه نهایی

$$\textcircled{21} \quad ty'' - ty' + y = 1 \quad y'(0) = r \quad y(0) = 1$$

$$\rightarrow L[ty''] - L[ty'] + L[y] = L[1]$$

$$\rightarrow -\frac{d}{ds}(s^r Y - sy(0) - y'(0)) + \frac{d}{ds}(sY - y(0)) + Y = \frac{1}{s}$$

$$\rightarrow -\frac{d}{ds}(s^r Y - s - r) + \frac{d}{ds}(sY - 1) + Y = \frac{1}{s}$$

~~$$\rightarrow -[rsY + s^r Y' - 1] + [sY' + Y] + Y = \frac{1}{s}$$~~

$$\rightarrow -[rsY + s^r Y' - 1] + [sY' + Y] + Y = \frac{1}{s}$$

$$(s - s^r) Y' + (r - rs) Y = \frac{1 - s}{s} \rightarrow \underbrace{Y'(s) + \frac{r}{s} Y(s)} = \frac{1}{s^r}$$

Integrating factor

$$Y(s) = \frac{1}{s^r} \int \frac{1}{s^r} ds + C = \frac{1}{s^r} \{s + C\} = \frac{1}{s} + \frac{C}{s^r}$$

$$y(t) = 1 + ct \rightarrow 1 + 0 \checkmark$$

$$y' = c \rightarrow \boxed{c_2 r}$$

$$Y(s) = \frac{1}{s} + \frac{r}{s^r}$$

$$Y(r) = \frac{1}{r} + \frac{r}{r} = \frac{0}{r} \checkmark \quad \frac{r}{r} = 1$$

(24)

$$x^r y''(x) + p(x) y'(x) + x^\varepsilon y(x) = 0 \quad x > 0 \quad z = f(x)$$

$$y' = \frac{dy}{dx} = \frac{dy}{dz} \cdot \frac{dz}{dx} \Rightarrow y'' = \frac{d(y')}{dx} = \frac{d}{dx} \left(\frac{dy}{dz} \cdot \frac{dz}{dx} \right) = \frac{d}{dx} \left(\frac{dy}{dz} \right) \cdot \frac{dz}{dx} + \frac{dy}{dz} \cdot \frac{d}{dx} \left(\frac{dz}{dx} \right)$$

$$= \left(\frac{dz}{dx} \right)^r \cdot \frac{d^r y}{dz^r} + \frac{d^r z}{dx^r} \cdot \frac{dy}{dz}$$

نقلنا $\rightarrow x^r \left[\left(\frac{dz}{dx} \right)^r \cdot \frac{d^r y}{dz^r} + \frac{d^r z}{dx^r} \cdot \frac{dy}{dz} \right] + p(x) \left[\frac{dy}{dz} \cdot \frac{dz}{dx} \right] + x^\varepsilon y = 0$

x^ε ليس له معنى $\rightarrow \frac{1}{x^r} \left(\frac{dz}{dx} \right)^r \frac{d^r y}{dz^r} + \left[\frac{1}{x^r} \frac{d^r z}{dx^r} + \frac{p(x)}{x^\varepsilon} \frac{dz}{dx} \right] \frac{dy}{dz} + y z = 0$

$$\rightarrow \frac{\left(\frac{dz}{dx} \right)^r}{x^r} = c_1 \rightarrow \frac{dz}{dx} = \pm \sqrt{c_1} x = c_2 x \rightarrow z = c_2 x^r + c_3$$

$$\frac{1}{x^r} \frac{d^r z}{dx^r} + \frac{p(x)}{x^\varepsilon} \frac{dz}{dx} = c_3 \xrightarrow{z = c_2 x^r + c_3} \frac{r c_2}{x^r} + \frac{p(x)}{x^\varepsilon} (r c_2 x) = c_3$$

$$\rightarrow r c_2 x^r + p(x) (r c_2 x) = c_3 x^\varepsilon \rightarrow p(x) = \frac{c_3 x^\varepsilon - r c_2 x^r}{r c_2 x} = k x - x$$

r ليس له معنى

(29)

$$L[j_0(\omega)] = \frac{1}{\sqrt{s^2+1}}$$

$$L(j_1(\omega)) = ?$$

می دانیم $j_1(\omega) = -j_0'(\omega) \rightarrow L[j_1(\omega)] = -L[j_0'(\omega)]$

$$\underline{L[f'] = sL[f] - f(0)} \rightarrow L[j_0'(\omega)] = sL[j_0(\omega)] - j_0(0) = \frac{s}{\sqrt{s^2+1}} - 1$$

$$\rightarrow L[j_1(\omega)] = 1 - \frac{s}{\sqrt{s^2+1}} = \frac{\sqrt{s^2+1} - s}{\sqrt{s^2+1}} \checkmark$$

نتیجه

(10)

$$x^r y'' - x(\alpha + x) y' + (\beta + x^2) y = 0$$

$$y = c_1 y_1(x) + c_2 y_2(x)$$

Ans: $y = \frac{1}{x} \ln|x| + x^r \sum_{n=0}^{\infty} b_n x^n$

$$\rightarrow r = r_1 = r_2 \checkmark \quad (r-r_1)^2 = 0$$

$$r^2 - \epsilon r + \epsilon = 0$$

$$P_0 = \lim_{x \rightarrow 0} \frac{-x^r}{x^{r+1}} (\alpha + x) = -\alpha$$

$$P_1 = \lim_{x \rightarrow \infty} \frac{x^2}{x^{r+1}} (\beta + x^2) = \beta$$

$$\rightarrow r^2 + (-\alpha - 1)r + \beta = 0$$

$$\left\{ \begin{array}{l} r^2 - (\alpha + 1)r + \beta = 0 \\ r^2 - \epsilon r + \epsilon = 0 \end{array} \right\} \rightarrow \beta = \epsilon \quad \alpha = r$$

Ans $\alpha = \beta = 1$

(13)

$$f(x) = \begin{cases} \sin x & 0 \leq x \leq \pi \\ 0 & \text{elsewhere} \end{cases}$$

$$f(-x) = -f(x) \rightarrow \text{odd}$$

$$F\{f(x)\} = -i F_s\{f(x)\} \leftarrow \text{Fourier sine transform}$$

$$F(\omega) = -i F_s\{f(x)\} = -i \int_0^\pi \sin x \sin \omega x \, dx = -i \int_0^\pi [\cos(1-\omega)x - \cos(1+\omega)x] \, dx$$

$$= -i \left[\frac{\sin(1-\omega)x}{1-\omega} - \frac{\sin(1+\omega)x}{1+\omega} \right]_0^\pi = -i \left[\frac{\sin(1-\omega)\pi}{1-\omega} - \frac{\sin(1+\omega)\pi}{1+\omega} \right]$$

$$= -i \left[\frac{\sin \omega \pi}{1-\omega} - \frac{-\sin \omega \pi}{1+\omega} \right] = -i \left[\frac{2 \sin \omega \pi}{1-\omega^2} \right] = \frac{2i \sin \omega \pi}{\omega^2 - 1}$$

نتیجه